

CONDITIONS FOR THE STABILITY OF AN IMPULSIVE LINEAR EQUATION WITH PURE DELAY

I. L. Ivanov¹ and B. I. Slyn'ko²

UDC 517.9

We establish necessary and sufficient conditions for the stability of one class of impulsive linear differential equations with delay.

Stability of solutions of impulsive differential equations, including periodic systems, was studied in numerous works (see, e.g., [1–3]). Systems of impulsive differential equations with delay were investigated in [4–6]. These investigations were based on the direct Lyapunov method combined with Razumikhin's concept. Of special importance is the problem of the construction of an analog of the Floquet theory for this class of differential equations. In the present paper, for a scalar equation with pure delay whose value coincides with the period of pulse action, under certain assumptions, we construct an analog of the monodromy operator in a functional space and establish necessary and sufficient conditions for the stability of a linear equation. The method is based on the comparison principle for discrete mappings [7]. The investigation of stability is reduced to the determination of real roots of a certain transcendental equation.

Consider the problem of the stability of the differential equation

$$\dot{x} = bx(t - \theta), \quad t \neq k\theta, \tag{1}$$

$$x(t^+) = cx(t), \quad t = k\theta \quad \forall k \in \mathbb{N}_0,$$

where $bc \geq 0$ and $\theta > 0$, in the space of functions

$$X = C[0, \theta) \cap C^1\left(\bigcup_{k=1}^{\infty} (k\theta, (k+1)\theta)\right).$$

We have assumed here that $bc \geq 0$ to guarantee the solvability on the real axis for the transcendental equation introduced below.

Note that, for $b = 0$, this equation is trivial; this special case is considered in what follows. We now assume that $b \neq 0$.

Since $bc \geq 0$, the following two cases are possible:

(i) $b > 0$ and $c \geq 0$;

(ii) $b < 0$ and $c \leq 0$.

¹ Shevchenko Kyiv National University, Kyiv, Ukraine.

² Institute of Mechanics, Ukrainian National Academy of Sciences, Kyiv, Ukraine.

In what follows, we restrict ourselves to case (i), addressing case (ii) only in remarks. Denote $\Omega = (0, \theta)$. For Eq. (1), we formulate the initial conditions

$$x(t) = f(t), \quad t \in \bar{\Omega}, \quad (2)$$

where $f(t)$ is a continuous function.

We take a sequence $\{\varphi_n\}_{n \in \mathbb{N}_0}$ of functions $\varphi_n: \bar{\Omega} \rightarrow \mathbb{R}$ and consider the problem

$$\frac{d\varphi_n(t)}{dt} = b\varphi_{n-1}(t), \quad t \in \bar{\Omega}, \quad n \in \mathbb{N}, \quad (3)$$

$$\varphi_n(-\theta) = c\varphi_{n-1}(0),$$

$$\varphi_0(t) = f(t), \quad t \in \bar{\Omega}, \quad (4)$$

where the functions φ_n , $n \in \mathbb{N}$, are continuously differentiable in the domain of definition (φ_0 is continuous).

Definition 1. System (3) is called stable if, for any $\varepsilon > 0$, there exists $\delta > 0$ such that if

$$\|\varphi_0(t)\|_{C(\bar{\Omega})} < \delta,$$

then

$$\|\varphi_n(t)\|_{C(\bar{\Omega})} < \varepsilon$$

uniformly in n .

Definition 2. System (3) is called asymptotically stable if it is stable and $\|\varphi_n(t)\|_{C(\bar{\Omega})} \rightarrow 0$ as $n \rightarrow \infty$.

It is easy to see that the solutions of problems (1), (2) and (3), (4) are related to one another as follows:

$$\varphi_n(t) = x(n\theta + t), \quad t \in (0, \theta], \quad (5)$$

Therefore, conditions for stability and asymptotic stability of system (1) are equivalent to conditions for stability and asymptotic stability of system (3).

Definition 3. Let $\{\varphi_n\}$ be a solution of (3). Then the operator $T: C(\bar{\Omega}) \rightarrow C(\bar{\Omega})$ defined by the equality $T\varphi_n = \varphi_{n+1}$ for an arbitrary $n \in \mathbb{N}$ is called the monodromy operator for (3).

It is obvious that this operator admits the representation

$$T\varphi_n(t) = c\varphi_n(0) + b \int_{-\theta}^t \varphi_n(s) ds. \quad (6)$$

It can be shown that the operator T is linear. Using the Banach–Steinhaus theorem and the definitions of monodromy operator and stabilities, one can easily verify that the stability of (3) is equivalent to the boundedness of the sequence $\|T^n\|_{C(\bar{\Omega})}$ (here, the norm of an operator is the ordinary operator norm generated by the norm $\|\cdot\|_{C(\bar{\Omega})}$), and the asymptotic stability is equivalent to the relation

$$\lim_{n \rightarrow \infty} \|T^n\|_{C(\bar{\Omega})} = 0.$$

The introduced monodromy operator has the form

$$T\varphi_n(t) = c\varphi_n(\theta) + b \int_0^t \varphi_n(s) ds. \tag{7}$$

Consider the problem of finding the general form of the expression $T^n 1$.

We investigate $T^n 1$ by taking first several values of n :

$$T^0 1 = 1 \quad \text{on } \bar{\Omega},$$

$$T 1 = c \cdot 1 + b \int_0^t 1 ds = c + bt \quad \text{on } \bar{\Omega},$$

$$T^2 1 = T(T(1)) = c(c + b\theta) + b \int_0^t (c + bt) ds = c^2 + cb\theta + b \left(ct + \frac{1}{2}bt^2 \right) \quad \text{on } \bar{\Omega}.$$

This implies that the general form of $T^n 1$ is $T^n 1 = P_n(t)$, where $P_n(t)$ is a polynomial of degree n .

It can be shown that

$$Tt^k = c\theta^k + \frac{1}{k+1}bt^{k+1}.$$

Let b_n denote the free term of the polynomial $P_n(t)$ for an arbitrary $n \in \mathbb{N}_0$. For the polynomial $P_n(t)$, we obtain the representation

$$P_n(t) = b_0 \frac{b^n}{n!} t^n + b_1 \frac{b^{n-1}}{(n-1)!} t^{n-1} + b_2 \frac{b^{n-2}}{(n-2)!} t^{n-2} + \dots + b_{n-1}bt + b_n. \tag{8}$$

In this case, we have

$$P_{n+1}(t) = TP_n(t) = b_0 \frac{b^{n+1}}{(n+1)!} t^{n+1} + b_1 \frac{b^n}{n!} t^n + b_2 \frac{b^{n-1}}{(n-1)!} t^{n-1} + \dots + b_n t + cP_n(\theta),$$

whence

$$b_{n+1} = cP_n(\theta) = c \left(b_n + \beta b_{n-1} + \frac{\beta^2}{2!} b_{n-2} + \dots + \frac{\beta^n}{n!} b_0 \right), \quad (9)$$

where $\beta = b\theta$.

Equality (9) is a recurrence relation. Using this relation, we can determine b_{n+1} for known b_1, b_2, \dots, b_n . Parallel with this relation, we also consider the relation

$$\tilde{b}_{n+1} = c \sum_{k=0}^{\infty} \frac{1}{k!} \tilde{b}_{n-k} \beta^k \quad (10)$$

for a certain sequence $\{\tilde{b}_n\}$. Since $b_0 = 1$, we set $\tilde{b}_0 = 1$.

We seek a solution of (10) in the form $\tilde{b}_n = q^n$ because, as $n \rightarrow +\infty$, any solution of system (10) can always be majorized by the solution proposed above multiplied by a certain constant. We are interested here in a sequence with maximum growth. Then relation (10) takes the form

$$q^{n+1} = c \sum_{k=0}^{\infty} q^{n-k} \frac{\beta^k}{k!},$$

or, on performing transformations and finding the sum of the series,

$$q = ce^{\beta/q}. \quad (11)$$

It can be shown that, for $b > 0$ and $c > 0$ (the case $c = 0$ corresponds to an equation with trivially stable zero solution), the transcendental equation (11) has a unique real root, which is positive. This follows from the fact that the function on the right-hand side of the equation takes only positive values and decreases monotonically on the right half axis from $+\infty$ to 1. By analogy, we establish that, for $b < 0$ and $c < 0$, this equation has a unique real solution, which is negative. Thus, we assume that q satisfies (11). Then relation (10) holds for $\tilde{b}_n = q^n, n \in \mathbb{Z}$.

For an arbitrary $n \in \mathbb{N}_0$, we denote

$$\theta_n = \frac{b_n}{\tilde{b}_n}. \quad (12)$$

One can verify that θ_n satisfies the relation

$$\theta_{n+1} = e^{-\frac{\beta}{q}} \left(\theta_n + \frac{\beta}{q} \theta_{n-1} + \frac{1}{2!} \left(\frac{\beta}{q} \right)^2 \theta_{n-2} + \dots + \frac{1}{n!} \left(\frac{\beta}{q} \right)^n \theta_0 \right). \quad (13)$$

Denoting

$$\beta_1 = \frac{\beta}{q},$$

we obtain

$$\theta_{n+1} = e^{-\beta_1} \left(\theta_n + \beta_1 \theta_{n-1} + \frac{\beta_1^2}{2!} \theta_{n-2} + \dots + \frac{\beta_1^n}{n!} \theta_0 \right).$$

Performing the substitution $A_k = e^{-\beta_1(\beta^k/k!)}$, we get

$$\theta_{n+1} = \sum_{k=0}^n A_k \theta_{n-k}. \tag{14}$$

Denote

$$S_n = \sum_{k=0}^n A_k$$

and $r_n = 1 - S_n$.

Lemma 1. *Let a sequence θ_n be defined by (12). Then there exists θ^* such that $\theta^* \leq \theta_n \leq 1$ uniformly in n .*

Proof. Thus, $\theta_{n+1} = v_n(1 - r_n)$, where v_n is a “weighted mean”:

$$v_n = \frac{\sum_{k=0}^n A_k \theta_{n-k}}{\sum_{k=0}^n A_k}.$$

First, we show that the second inequality in the statement of the lemma is true. We prove it by the method of mathematical induction.

For $n = 0$, we have $\theta_0 \leq 1$. Assuming that the required inequality holds for an arbitrary $k \leq n$ ($\theta_k \leq 1$), we prove it for $n + 1$. Indeed,

$$\theta_{n+1} = v_n(1 - r_n) \leq v_n \leq \max_k \{\theta_k\} \leq 1,$$

which was to be proved.

Now consider the first inequality. Consider one more inequality defined by the recurrence relation

$$\tilde{\theta}_{n+1} = \tilde{\theta}_l(1 - r_n),$$

where l is such that $\tilde{\theta}_l < \tilde{\theta}_k$ for any $k \leq n, k \neq l$, and $\tilde{\theta}_0 = 1$. Using the method of mathematical induction, one can easily prove that $l = n$, i.e., $\{\tilde{\theta}_n\}$ decreases monotonically because $1 - \tilde{r}_n < 1$.

Using the method of mathematical induction, we show that $\theta_n \geq \tilde{\theta}_n$ for an arbitrary n .

For $n = 0$, we have $\theta_0 \geq \tilde{\theta}_0$. Assuming that the required inequality holds for $l \leq n$ (i.e., $\theta_l \geq \tilde{\theta}_l$), we prove that $\theta_{n+1} \geq \tilde{\theta}_{n+1}$. Indeed,

$$\theta_{n+1} = v_n(1 - r_n) \geq \min_i \{\theta_i\}(1 - r_n) \geq \min_i \{\tilde{\theta}_i\}(1 - r_n) = \tilde{\theta}_n(1 - r_n) = \tilde{\theta}_{n+1},$$

which was to be proved.

Let us show that $\tilde{\theta}_n$ is bounded from below by a positive number. Indeed,

$$\tilde{\theta}_{n+1} = \tilde{\theta}_n(1 - r_n) = \tilde{\theta}_{n-1}(1 - r_n)(1 - r_{n-1}) = \dots = \tilde{\theta}_0 \prod_{k=0}^n (1 - r_k).$$

Thus, the problem of the boundedness of $\tilde{\theta}_n$ is equivalent to the problem of the convergence (to a nonzero value) of the product $\prod_{n=0}^{\infty} (1 - r_n)$. This product converges if and only if there exists the sum of the series $\sum_{n=0}^{\infty} r_n$ [8]. However,

$$r_n = \sum_{k=n+1}^{\infty} \beta_1^k \frac{1}{k!}.$$

We take the minimal $l \geq n$ for which $l > \beta_1$ and obtain

$$\begin{aligned} \sum_{k=n+1}^{\infty} \beta_1^k \frac{1}{k!} &= \sum_{k=n+1}^l \beta_1^k \frac{1}{k!} + \sum_{k=l+1}^{\infty} \beta_1^k \frac{1}{k!} \\ &= \sum_{k=n+1}^l \beta_1^k \frac{1}{k!} + \frac{\beta_1^l}{l!} \sum_{k=l+1}^{\infty} \frac{\beta_1^{k-l}}{(l+1)(l+2)\dots k} \\ &< \sum_{k=n+1}^l \beta_1^k \frac{1}{k!} + \frac{\beta_1^l}{l!} \sum_{k=l+1}^{\infty} \frac{\beta_1^{k-l}}{(l+1)^{k-l}} = \sum_{k=n+1}^l \frac{\beta_1^k}{k!} + \frac{\beta_1^l}{l!} \frac{\beta_1}{l+1} \frac{1}{1 - \frac{\beta_1}{l+1}} \\ &= \sum_{k=n+1}^l \frac{\beta_1^k}{k!} + \frac{\beta_1^{l+1}}{l!} \frac{1}{l+1 - \beta_1}. \end{aligned}$$

We now eliminate r_n for which $l > n$. This does not affect the convergence of the series. Now let $n = l$. Then

$$r_n < \frac{\beta_1^{n+1}}{n!} \frac{1}{n+1-\beta_1} < \beta_1 \frac{\beta_1^n}{n!} = \beta_1 \frac{\beta_1^n}{\sqrt{2\pi n} \left(\frac{n}{e}\right)^n e^{\delta_n}},$$

where $\delta_n \in \left(0, \frac{1}{12n}\right)$ [9]. Further, we get

$$\beta_1 \frac{\beta_1^n}{\sqrt{2\pi n} \left(\frac{n}{e}\right)^n e^{\delta_n}} = \beta_1 \frac{1}{\sqrt{2\pi n} \left(\frac{n}{\beta_1 e}\right)^n e^{\delta_n}} < \beta_1 \frac{1}{\left(\frac{n}{\beta_1 e}\right)^n} < \frac{\beta_1}{2^n}$$

if we take n such that

$$\frac{n}{\beta_1 e} > 2.$$

However,

$$\sum_{n=1}^{\infty} \frac{\beta_1}{2^n} = \beta_1.$$

Therefore, the series $\sum_{n=0}^{\infty} r_n$ is convergent, and the product $\prod_{n=0}^{\infty} (1 - r_n)$ is also convergent. Consequently, there exists θ^* such that $\theta_n > \theta^*$ for all $n \in \mathbb{N}$.

Lemma 1 is proved.

Lemma 1 yields the following obvious corollary:

Corollary 1. *Let b_n be the sequence of free terms of $P_n(t) = T^n(1)$, where T is the monodromy operator for (4) for $b > 0$ and $c \geq 0$, and let q be a solution of the equation $q = ce^{\beta/q}$. Then the following assertions are true:*

- (i) if $q < 1$, then $b_n \rightarrow 0$ as $n \rightarrow \infty$;
- (ii) if $q = 1$, then there exist n^* , c_1 , and c_2 , $0 < c_1 < c_2$, such that $c_1 < b_n < c_2$ for all $n > n^*$;
- (iii) if $q > 1$, then $b_n \rightarrow \infty$ as $n \rightarrow \infty$.

Lemma 2. *Suppose that $P_n(t) = T^n(1)$, where T is the monodromy operator for (3), $b > 0$, $c \geq 0$, and $b_n > 0$ are the free terms of $P_n(t)$. Then the following assertions are true:*

- (i) if $b_n \rightarrow \infty$ as $n \rightarrow \infty$, then $\|P_n\|_{C(\bar{\Omega})} \rightarrow \infty$ as $n \rightarrow \infty$;
- (ii) if there exists $n^* \in \mathbb{N}$ such that $0 < c_1 < b_n < c_2$ for all $n > n^*$, then there exists n^{**} such that $\gamma_1 < \|P_n\|_{C(\bar{\Omega})} < \gamma_2$ for all $n > n^{**}$;
- (iii) if $b_n \rightarrow 0$ as $n \rightarrow \infty$, then $\|P_n\|_{C(\bar{\Omega})} \rightarrow 0$ as $n \rightarrow \infty$.

Proof. 1. Assume that $b_n \rightarrow \infty$. However,

$$\|P_n\|_{C(\bar{\Omega})} = \left\| \sum_{k=0}^n b_k \frac{b^{n-k}}{(n-k)!} t^{n-k} \right\|_{C(\bar{\Omega})} \geq |P_n(0)| = b_n.$$

Therefore, $\|P_n\|_{C(\bar{\Omega})} \rightarrow \infty$ as $n \rightarrow \infty$.

2. Assume that there exists $n^* \in \mathbb{N}$ such that $0 < c_1 < b_n < c_2$ for all $n > n^*$. Then

$$\|P_n\|_{C(\bar{\Omega}_1)} = \left\| \sum_{k=0}^n b_k \frac{b^{n-k}}{(n-k)!} t^{n-k} \right\|_{C(\bar{\Omega}_1)} \geq |P_n(0)| = b_n > c_1.$$

On the other hand,

$$\begin{aligned} \|P_n\|_{C(\bar{\Omega}_1)} &= \left\| \sum_{k=0}^n b_k \frac{b^{n-k}}{(n-k)!} t^{n-k} \right\|_{C(\bar{\Omega}_1)} = \left| \sum_{k=0}^n b_k \frac{b^{n-k}}{(n-k)!} \theta^{n-k} \right| \\ &= \left| \sum_{k=0}^n b_{n-k} \frac{(b\theta)^k}{k!} \right| = \frac{1}{c} b_{n+1} < \frac{1}{c} c_2. \end{aligned}$$

Thus,

$$c_1 < \|P_n\|_{C(\bar{\Omega}_1)} < \frac{c_2}{c} \quad \text{for } n > n^*.$$

3. Assume that $b_n \rightarrow 0$ as $n \rightarrow \infty$. Then

$$\|P_n\|_{C(\bar{\Omega}_1)} = \frac{b_{n+1}}{c} \rightarrow 0 \quad \text{as } n \rightarrow \infty.$$

Lemma 2 is proved.

Lemma 3. *Suppose that T is the monodromy operator for (3), $b > 0$, and $c \geq 0$. Then*

$$\|T^n f\|_{C(\bar{\Omega})} \leq \|f\|_{C(\bar{\Omega})} \|T^n(1)\|_{C(\bar{\Omega})} \quad \text{for any } n.$$

Proof. It suffices to show that

$$|T^n f(t)| \leq \|f\|_{C(\bar{\Omega})} |T^n(1)(t)|.$$

We prove this by the method of mathematical induction. For $n = 0$, this relation is true because

$$|T^0 f(t)| = |f(t)| \leq \|f\|_{C(\bar{\Omega})} = \|f\|_{C(\bar{\Omega})} |T^0(1)|.$$

Assume that

$$|T^n f(t)| \leq \|f\|_{C(\bar{\Omega})} |T^n(1)(t)|.$$

We get

$$\begin{aligned} |T^{n+1} f(t)| &= |TT^n f(t)| = \left| bT^n f(\theta) + c \int_0^t T^n f(s) ds \right| \\ &\leq b |T^n f(\theta)| + c \left| \int_0^t T^n f(s) ds \right| \\ &\leq b |T^n(1)(\theta)| \|f\|_{C(\bar{\Omega})} + c \left| \int_0^t T^n(1)(s) ds \right| \|f\|_{C(\bar{\Omega})} \\ &= \|f\|_{C(\bar{\Omega})} \left| bT^n(1)(\theta) + c \int_0^t T^n(1)(s) ds \right| = \|f\|_{C(\bar{\Omega})} |T^{n+1}(1)(t)|. \end{aligned}$$

The lemma is proved.

Thus, we have established that if q is a solution of the equation $q = ce^{\beta\theta/q}$, then the behavior of the sequence b_n is determined by the location of q with respect to 1 (Corollary 1), the behavior of $\|T^n 1\|_{C(\bar{\Omega})}$ is determined by the behavior of the sequence b_n (Lemma 2), and the behavior of $\|T^n f\|_{C(\bar{\Omega})}$ is determined by the behavior of $\|T^n 1\|_{C(\bar{\Omega})}$. Therefore, we can formulate the following statement:

Corollary 2. Let q be a solution of the equation $q = ce^{\beta\theta/q}$ and let $b > 0$ and $c \geq 0$ in system (3). Then the following assertions are true:

- (i) if $q < 1$, then Eq. (1) is asymptotically stable;
- (ii) if $q = 1$, then Eq. (1) is stable;
- (iii) if $q > 1$, then Eq. (1) is unstable.

Note that if $b = 0$, then the stability of (3) is determined by the location of the modulus of the parameter c with respect to 1 because a solution of this system admits the analytic representation

$$\varphi_n(t) = c^n f(\theta), \quad t \in \bar{\Omega}, \quad n \in \mathbb{N}.$$

In the case where $b < 0$ and $c \leq 0$, a solution of problem (3), (4) can be represented in the form $\varphi_n = (-1)^n \tilde{\varphi}_n$, where $\tilde{\varphi}_n$ is a solution of problem (3), (4) in which the coefficients b and c are replaced by their moduli. Therefore, the problems of stability of φ_n and $\tilde{\varphi}_n$ are equivalent.

In this connection, taking into account that a solution of system (1) is associated with the solution of system (3) given by (5), we can formulate the following theorem:

Theorem 1. Let q be a solution of the equation $q = ce^{\beta\theta/q}$ and let system (1) be such that $bc \geq 0$. Then the following assertions are true:

- (i) if $|q| < 1$, then system (1) is asymptotically stable;
- (ii) if $|q| = 1$, then system (1) is stable;
- (iii) if $|q| > 1$, then system (1) is unstable.

Thus, the problem of the stability of solutions of the considered equation reduces to the determination of the location of the modulus of a solution of the transcendental equation (1) with respect to 1.

REFERENCES

1. A. M. Samoilenko and N. A. Perestyuk, *Impulsive Differential Equations* [in Russian], Vyshcha Shkola, Kiev (1987).
2. M. O. Perestyuk and O. S. Chernikova, "Some modern aspects of the theory of impulsive differential equations," *Ukr. Mat. Zh.*, **60**, No. 1, 81–94 (2008).
3. A. A. Boichuk, N. A. Perestyuk, and A. M. Samoilenko, "Periodic solutions of impulsive differential systems in critical cases," *Differents. Uravn.*, **27**, No. 9, 1516–1521 (1991).
4. A. A. Martynyuk, J. H. Shen, and I. P. Stavroulakis, "Stability theorems in impulsive functional differential equations with infinite delay," in: A. A. Martynyuk (editor), *Advances in Stability Theory at the End of the 20th Century*, Taylor & Francis, London (2003), pp. 153–174.
5. V. I. Slyn'ko, "On conditions for the stability of motion of linear impulsive systems with delay," *Prikl. Mekh.*, **41**, No. 6, 130–138 (2005).

6. M. O. Perestyuk and V. Yu. Slyusarchuk, "Conditions for the existence of nonoscillating solutions of nonlinear differential equations with delay and pulse influence in a Banach space," *Ukr. Mat. Zh.*, **55**, No. 6, 790–798 (2003).
7. V. Lakshmikantham, S. Leela, and A. A. Martynyuk, *Stability of Motion: The Comparison Method* [in Russian], Naukova Dumka, Kiev (1991).
8. É. Goursat, *Cours d'Analyse Mathématique* [Russian translation], Vol. 1, Part 2, Gostekhizdat, Moscow (1934).
9. E. Jahnke, F. Emde, and F. Lösch, *Tables of Higher Functions*, McGraw-Hill, New York (1960).